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1. Processor Over-subscription Wag Processor Under-subscription Aoozls 2sesurenionsndiegs

Usenau (5 AZLUY)

2. ParallelBreak 135n15ld91um1931n Parallel.Stop  8814ls vtendlagwlaalusensudus Usenau

AN85U1Y (5 AZLLUL)

3. swudluanwuu Custom Partitioning Sivedeideetnals 215U (5 Azuuw)
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4. SMT (Simultaneous Multi-threading) uag Multi-core ilouvonniuegnls wesuie (5 Azwuw)

5. wazmalansiauinsageslutigiuidsuiinduneiinnniniy clock frequency waziii
Instruction level parallelism (5 AzLuW)

acd

6.  UBNWMilEINNSLY TPL (Task Parallel Library) uwd? 238n@20819358ulun191@sulusinsusuy

{afnasu1ae19tes 335 (3 AZLUL)
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7. Nsanlaasslul

double[JA= {00, 1.0,20, 3.0, 4.0, 50, 6.0, 7.0, 8.0, 9.0,
10.0, 11.0, 12.0, 13.0, 14.0, 15.0, 16.0, 17.0, -18.0, -19.0,
-20.0, -21.0, -22.0, -23.0, -24.0, -25.0, -26.0, -27.0, -28.0, -29.0,
30.0, 31.0, 32.0, -33.0, -34.0, -35.0, -36.0, -37.0, -38.0, -39.0,
-40.0, 41.0, 42.0, 43.0, 44.0, 45.0, 46.0, 47.0, 48.0, 49.0,
50.0,51.0, 52.0, 53.0, 54.0, 55.0, 56.0, 57.0, 58.0, 59.0};
double[] B = new double[A.Length];

var loopResult = Parallel.For(0, ALength, (i, loopState) =>
{
Blil = Alil;
if (Ali] < 0.0)
loopState.Break();
} // Close lambda expression.
); // Close Parallel.For

if (loopResult.lsCompleted && loopResult.LowestBreakiteration.HasValue)
{
Console.WriteLine("Loop encountered a break at {0},
loopResult.LowestBreaklteration.Value);

}

nnldaduuy Wunsfieyldeyasinensd A ludsensd B Tneld Parallel For asmnanndudendeluil
Tolalildnadnsfigndeamdsaniulusunsuduuuaiadu (Genmeulaunnnit 1 4e) nieuvisedurevana
Usznau (7 Azwu)

B={00,10,20,30,40,506.0,70,80,9.0,
10.0, 11.0, 12.0, 13.0, 14.0, 15.0, 16.0, 17.0, -18.0, -19.0,
“200, 2108 ] seessssessesnsenssnssaceseasastsessaresserterssesssresserasavasesesssansrsasenasas

B={0010,2030,40,50,60,70,80,90,
100, 11.0, 120, 13.0, 140, 15.0, 16.0, 17.0, -18.0, 0.0,
0.0, 0.0,-22.0,0.0,0.0,-250, | ceersererecercnrasresecetnccitennanicnseatesacsetesentasessistssesesasresasassans

B=1{00,10 20, 30,4050, 60,7.0,80,9.0,
10.0, 11.0, 12.0, 13.0, 14.0, 15.0, 16.0, 17.0, -18.0, -19.0,
<20.0,-21.0,-22.0, -23.0F | ecesmsasssssscessssccsssssscasisssssssasess ases s sansssu st ss e snnsassmessnasiann

B=1{00, 10,20, 3.0, 4.0, 5.0, 6.0, 7.0, 8.0, 9.0,
10.0, 11.0, 12.0, 13.0, 14.0, 15.0, 16.0, 17.0, -18.0, 0.0,
-0.0,00,0.0,0.0,0.0,0.0,-260, 0.0, -28.03;, | ceecectcrectcenrenteatsrstasestossetstntesssassaesacestassestsesessesssrssnsestans
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8. dsulusunsunuvsuulaeldnmw C#  iWeauInAlu A way B Taeniumadnsly C (15 Azwuw)
Avusli A, B, C 1usnsdvum 100,000,000,000 daudlaeiinSuaAual

a=1{020406,08,...}
b ={0.0, 1.0, 2.0, 3.0,......}
c=1{}

2

fvusli a,b,c Svtadu float wazlinisvirnuredlusunsuiinaansaadl
c[0] = sin(a[1])+ cos(b[1])
c[1] = sin(a[2])+ cos(b[2])
¢[99,999,999,998] = sin(a[99,999,999,999])+ cos(b[99,999,999,999])
c[99,999,999,999] = sin(a[0])+ cos(b[0])
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9. sadpuiandudadineiaunuusunu 3 tst_if_NaN_exist iiemindayaansdeia double fifn NaN
(not a number) agualil vnnwuindl WiuwaAm31 “NaN Found” UuviinasnIn #iaunssimesua
true wsthlaimulvisinasue false (10 AzwuL)
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10. anl@adsluil

static void Main(string[] args) static int GenerateNumbers()
{ {
var t1 = Task<int>.Factory.StartNew{() ~ => GenerateNumbers()); int i;
var t2 = Task<string> Factory StartNew(() => PrintCharacters()); for(i=0;i<7;i++)
var t3 = Task<int>.Factory.StartNew(() ~ => PrintArray()); {
Console.WriteLine("Method1 - Number: {0}, i);
Thread.Sleep(202);
Console WriteLine("Before one fastest has been completed”); 1
Task.WaitAny(t1, t2, t3); return j;
Console WriteLine("After one fastest has been completed”); }
Console WriteLine("<result t3>Array Count {0}, t3.Result);
Console WriteLine("<result t2>Original String {0}, t2.Result);
Console WriteLine("<result t1>Numbers generated till {01, t1.Result);
Console.ReadLine();
}
static string PrintCharacters() static int PrintArray()
{ {
string str = "dotnet’; intflarr={1,2,3,4,5%
for (int i = 0; i < str.Length; i++) foreach (int i in arr)
{ {
Console WriteLine("Method2 - Character: {0, str{il); Console WriteLine("Method3 - Array: {0}, 1);
Thread.Sleep(350); Thread.Sleep(150);
} }
return str; retumn arr.Count();
} }

PNATIEAFLUTHNTULAEMIFIUTHNTUILHARINAANS NS S ULUIBN WaEals (15 AZLUL)
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11. Racing Condition fioazls 2sadunenisunaensieeng (5 AzLUY)

12. lSeuisulfn srudeilonazaiiuuinile neualeneiinlentavinuuulnswaweswuulaines
152077 wisunseSurememaUsznau (7 AzuuL)

stopWatch.Start(); stopWatch.Start();
sum = 0; sum = Q;
for (i = 0; i < arr.Length; i++) stopWatch.Start();
{ Parallel.For(0, arr.Length, j =>
sum += anfi}; { Intertocked Add(ref sum, arr{jl);
} b3
stopWatch.Stop(); stopWatch.Stop();
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